SPMLMI[]N NEUTRUN SOURCE
\

MEBT MEETING AGENDA
November 13, 2001

M echanical Systems Update

1.  Assembly Status
Raft 2 Assembly (photo)
- Fiducidization (results)
All quads (results)

2. DeS|gn Status (M EBT)
PM5 vacuum manifold (image)
Raft assembly drawings
Water system (diagram, views)
Quad power lead routing
Quad Electrical Covers

Electrical Systems Update

1. Low Level RF

2. Rebuncher System (photo)
Cavity #1 received 11/12/01

3. Beam Diagnostics

System Integration / I nstallation
1. Installation of MEBT frame
2.  Water system installation

Upcoming Tasks and Milestones
) Rebuncher Cavity #2-4 Received 6/30/01
Profile Monitor all complete 7/31/01

Next Meeting: Thursday, 12/6/01, 10 AM

MA_11-13-0l1.doc
D. Oshatz






Deviation From Nominal (Inches)
Error value for the CMM is 17 microns in a 600mm volume.

Raft 2 Quad Locational Deviations (x)
Third Run

Deviation values: The difference between the measured position of each fiducial
surface and its nominal position. Measurements taken 11/8/01

0.0040
0.0030
Lo
—
o
S
0.0020 - e
3
8 > S
o 8 8
0.0010 - P S
0.0000 ? + ! i * é ! ! #
H .
o N
-0.0010 o S S S 1 - <
s o o S o S
Q ' Q o o)) 8 Q
? = = ' 3 S <
-0.0020 - ' 3 S) '
4 o
ol 1
-0.0030 -
-0.0040
_|| o _|| o _|| Q:I _|| Q:I _|| Q:I _|I Q:I
| |
Yo} O P~ [e0] ()] o
> 2 > S = S > = > g = S
o o o o o o o o o o % %

Quad Number (Left/Right)



Deviation From Nominal (Inches)
Error value for the CMM is 17 microns in a 600mm volume.

0.0040

0.0030

0.0020

0.0010

0.0000

-0.0010

-0.0020

-0.0030

-0.0040

Deviation values: The difference between the measured position of each fiducial
surface and its nominal position. Measurements taken 11/8/01

Third Run

Raft 2 Quad Locational Deviations (y)

—— |0.0005

0.0003

0.0002

0.0001

-0.0001

-0.0003

-0.0010 +——

-0.0011

-0.0009
-0.0009

-0.0011 +—H

-0.0017

QM5_L

QM5_R

QM6_L

QM6_R

QM7 _L

M7_R
M8 L

(04

Q

Quad Number (Left/Right)

QM8_R

QM9_L

QM9 R

QM10 L

QM10 R



MEBT Quadrupole Magnet Locational Deviations (x)

Deviation values: The difference between the measured position of each fiducial

surface and its nominal position. Measurements taken 11/8/01.

{—Lﬁ Bx-surface
o
—

000°0~ d vTNO

09000 (- T vTNO

02000°0 ¥ €TNO

00000°0 T ETNO

00000°0 .ﬁ ¥ CTND

02000°0- T 2TNO

02000°0 .IIFI 4 TINO

090000 1T TINO

020000 .Ilﬁl ¥ 0TNO

90000 1 0TWO

n 0S000°0r d 6WO

| 06000°0- 1 6NO

02000°0 ¥ 8NO

020000 1 8NO

057000+ ET— ¥ LNO

00T00"0- T LNO

050000 +—E=m d 9NO

0S000°0 T 9NO

0T000°0- 4 SWO

0£000°0- 1 SN0

0£000'0 &= d vNO

0£000°0- T vNO

050000 == v ENO

020000~ T END

050000 +H==m d 2nNO

02000°0- 1 2NO

2/0000 +—E=mmm d TNO

02000°0- 1T TNO
s g 8 8 g8 8 8 8 8
S g 8 &8 8 &8 8 8§ 8

"aWNJOA WILWQQ9 © Ul SU0JOIW /T SI AIIND 3Y) 10} anjeA Jolig

(saysul) [eulwION WoOI4 uoeIAag

Quad Number (Left/Right)



MEBT Quadrupole Magnet Locational Deviations (y)

Deviation values: The difference between the measured position of each fiducial

surface and its nominal position. Measurements taken 11/8/01.

Oy-surface

e 91000 d ¥TNO

L0000 —=1 T YTNO

10000 —BH d €TNO

11000 —E3 T ETNO

10000 —BH d ¢TINO

50000 —EO T 2INO

000’0 —E2 d TINO

0000 —E21 T TINO

10000 +HHH d 0TWO

B /100°0r T 0TWO

20000 HEH d 6NO

B— T1100°0- T 6O

€000/0 — d s8N0

3+ 6000/0- T 8NO

= 60000~ d LNO

B €0000- T LNO

E— 1100°0- d 9NO

H— T000'0- T 9NO

—  0T00'0- d SO

50000 | —=1 T SO

B— ¢€0000- d vINO

eoo0p —H T vNO

00000 —— d €NO

00000 +—— T ENO

HE—  T000°0- SId\le}

20000 —EH T 2NO

B— ¢0000- d TNO

B— ¢0000- T TNO
o o o o o o o o o
S &8 &8 & 8 8 & 8§ 8
o o o o o 0_ 0_ 0_ 0_

*3WN|OA WWOQ9 ® Ul SUoJOIW /T SI NIND 38U 40} anjeA Jou3
(sayoul) [eUIWION WOl uoneinag

Quad Number (Left/Right)



Locational Deviation From Nominal (inches)
Error value for the CMM is 17 microns in a 600mm volume.
o

0.00125

0.001

0.00075

0.0005

0.00025

-0.00025

-0.0005

-0.00075

-0.001

-0.00125

MEBT Quadrupole Magnet Locational Deviations (x)

Deviation values: The difference between the averaged left/right positions of each fiducial
surface and the centerline positionof the quad. Measurements taken 11/8/01

\l -0.00035

1 2 3 4 5 6 7 8 9

Quadrupole Number

10

11

12

13

14

15

| ——MEBT Quads |




Deviation From Nominal (Inches)

Raft 1 Quad Locational Deviations (x&Yy)
Deviation values: the difference between the measured position of each fiducial
surface and its nominal position. Measurements taken 10/23-10/24/01.

0.0030

0.0020

0.0010

-0.0010

-0.0020

-0.0030
Quad Number (Left/Right)

Ox-surface
Oy-surface




Deviation From Nominal (inches)

0.0030

Raft 3 Quad Locational Deviations (x&y)

Deviation values: the difference between the measured position of each fiducial

surface and its nominal position. Measurements taken 10/4-10/8/01.

0.0020

0.0010

0.0000 -

-0.0010

1L

QM11 R

2 L

QM12 R QM13 L

QM13 R

4L

QM

Ox-surface
By-surface

-0.0020

-0.0030

Quad Number (Left/Right)




ION PUMP



Peter  A Luft
MANIFOLD

Peter  A Luft
ION PUMP

Peter  A Luft
PM5

Peter  A Luft
RAFT 3

Peter  A Luft
ION 
GAGE


i
el =)

M



DWG. NO. SIZE| REV.

25B7114

SH.

NOTES:

) ASSEMBLE

N A CLEAN ENVIRONMENT.

o 0O
O O

HE

A

20

O—1

imiliaiNiailie

SECTION

(D)

(D)

(L[]

(D)

20 9801 T7TA690 34 5/16" FLAT WASHER AN 960 , MCMASTER-CARR OR EQUIV

19 9801 T7TA660 6 L/4" DIA FLAT WASHER AN 960 , MCMASTER-CARR OR EQUIV 18-8 SS

18 2 5/16-18 UNC, 2.0 LG SHC SCREW

|7 MDC_ 190037 6 SCREW, SCH, 8-32 UNC-2A X 3/4 L SS

|6 MDC_190062 |6 SCREW, 12-PT,5/16-24 UNF X [-3/4" LG, SILVER PLATED SS

) MDC_19006 | |2 SCREW, 12-PT, 1/4-28 UNF X [-1/4" LG, SILVER PLATED SS

| 4 MDC_190058 8 SCREW, 12-PT,5/16-24 UNF X [-1/4" LG, SILVER PLATED SS

I3 MDC_ 190057 4 SCREW, 12-PT, 1/4-28 UNF X 7/8" LG, SILVER PLATED SS

|2 8 SCREW, SCH, 8&-32 UNC-2A X 3/8 L, SILVER PLATED 18-8 SS

I 6 [/ 4-28 UNF, 750 LG SOC HD SCREW, SILVER PLATED 18-8 SS

10 MDC_191009 3 GASKET, CONFLAT, 4-1/2 FLANGE, OFHC CU cu

9 MDC_191004 2 GASKET, CONFLAT, 2-3/4 FLANGE, OFHC CU cu

8 MDC_191002 | GASKET, CONFLAT, 2-1/8 FLANGE, OFHC CU cu

1 MDC_191000 | GASKET, CONFLAT, 1-1/3 FLANGE, OFHC CU cu

6 MDC_110018 2 FLANGE, CONFLAT, 4-1/2" 0D, CL HOLE, NON-ROT, BLANK

5 25B 121 | PM SPACER ALUMINUM 606 |

4 25B739 | NIPPLE, ADAPTER, RIGHT ANGLE, PM5_VMFD

3 25B740 | SPOOL, BELLOWS, CONFLAT, PM5_VMFD

2 25B738 | SPOOL, BELLOWS, ADAPTER, PM5_VMFD

| 25B734 | MANTFOLD WELDMENT, PM5

I TEM PART NO REQD DESCRIPTION MATERTAL
SI
UNLESS OTHERWSEECFED _SHOP ORDERS . ERNEST ORLANDO LAWRENCE ﬁh‘ \
PROJECTION: & = [if i | BERKELEY NATIONAL LABORATORY \|
S xx£0l FRAC. £ 1764 [DIL AT UNIVERSITY OF CALIFORNIA - BERKELEY
= | E 0.0 Angles & 0.1 [SURFACE
= XXX 4+ 0,005 F\&SH 125 T R
()
BO KNOT SCALE - NT AT TAG SNS PM5 VACUUM MANIFOLD
PROJECT PM5 VACUUM MANIFOLD ASSY

THREADS ARE CLASS 2
CHAMFER ENDS OF ALL SCREW TREADS 30°
CUT ROUND, .5 THREAD RELTEF ON MACHINED THREADS va PAL
BREAK EDGES 016 MAX. ON MACHINED WORK

PROJECT
NAME N/A

MICROF ILMED

DATE 30-0Oc¢t-01

DWG. TYPE

ASSEM

SHOWN ON

scae: | /2 SCDA?E PNR\ONTTS -
SHEET 1 OF 1

CHK o : DWG. NO. SIZE| REV. |2
A IPALIDPO 1/ 270 INTTIAL RELEASE JENOUE BUFRS, WELD SPLATIER 4 LOOSE SCALE E;R DPO DATE || -12-011| PATENT CLEAR: | DESIGN ACCT. NO. | CATEGORY CODE 2587114 A ;‘
REV|DWG |CHK|ZONE|  DATE CHANGES N ACCORDANCE WITH ASHE 114,50 8 846, AP o WIE | 1-12-0] - FE3313 ;
-y Dwq. T 1le: 258711 Nodel File: 25871
7 4 4 3 : |



r
0 B
y R <3 @ __
2684375 / ‘ 258437:XK ‘
\ ( = i i f ) ( (K ‘
TN g N
i i = i X
B 5 : 5 . . 5 - . ¥ o . 5 - B! - =
ye 0 —® @)
. ! — @ CIRC, 8
J % s ,.
J | ;i = ey ¢ @h i | 5D
© By «© © o NN BT Y S o e < miifll - © ®) o) a2l
= ] \ ‘ N @ ® | !
@ ® ¢ ®) ®) 2
@ @ 3
= ! o
- . g 5 - Oy 5
5] ° © © © © © © c c c © B c G G G
o o * *o o o © o o + & . o o o o o 6 © ¢ © ¢ e e © & & ¢ 6 c © - & B [ & © ¢ G ¢ G e
) © G G
& © © o G G 6 ©
@ @ @ ©® @ @
L L - L ) )
¢ . ¢ v . e @ s 1
~ i . = \ 4 .










DWG . NO. SIZE| REV. | SH.
8 | / 6 0 * 4 3 25B6154 3 1 1
SUPPLY TO - R - SUPPLY FROM
RFQ WALL CIRCUIT 100 GPM CHILLER
REBUNCHER SUPPLY MANIFOLD é \
° . o s 7 GPM (0.44 MIN ID)
RMEWMSLMﬂ\\\\' PRES TEMP 14 GPM (0.62 MIN ID)
.25 GPM (0.18 MIN \D)K. .ﬁ‘ 25 GPM (0 18 MIN 1D) 1.25 GPM (0.18 MIN \D)i' .ﬁmw GPM (0.34 MIN 1D)

SUPPLY FROM

— ““ BUILDING CHILLED WATER
4 GPM (0.33 MIN ID) 6 GPN (040 MIN 1D) P R E S 3 O
@ 6 GPM (0.40 MIN ID) ' M‘CRON
RAET 1 QUAD RAFT 3 QUAD
SUPPLY MANIFOLD SUPPLY MANIEOLD

ALL QUAD HOSES
CARRY 0.5 GPM , ;
(0.12 MIN 1D)
o 5 GPM EACH

| TAP WITH

3/8" FITTING Y ) ) Y ) )
3.6 GPM
ALL REBUNCHERS
TUNERS HAVE
2122
4% 0.5 GPM—T
| N OTD)

3.6 GPM (0.31 MIN ID)
—~ —~ —~

ALL QUAD COILS \. S NPT ReualE
Rt N ST ST
— N (Y) q_ 0.5 GPM TURBO N LO @ '\ m m O (Y) { URBQ 0.5 GPM — N q_ (Y) ﬂ'
S| 2| I=ll G ||z =[5 [|IZ] =] |= = 2| 5] @ |B= sl (5l e IS |5
C O o o O CHOPPER HAS o O @) () O @ @) o ANT| -CHOPPER HAS O O ac O (@
(/4 VCR MALE CHOF)PER /\/A VCR MALE
CHOPPER TARGET ANTI-CHOPPER
BEAM W - T Gpu I I Y .25 GPM IDEED - T o5 6eM B [.25 GPM GPM eeu | een| T - |1 crM I GP rer ] s erm [ - 0.5 GPM - - ] I | PR B Y B I o o
DIRECTION jw P
CHOPPER TARGET
/2 VCO MALE
FLOW
FLOW CONTROL
FLOW
SWITCH VAL|VE SWITCH
FLOW
|
TEMP
| TAP WITH
112" FITTING ke ket - @ » -
4 TAPS WITH-g
3/8" FITTINGS

» FLOW ¢
-I PRES

, ‘ RAFT #3 QUAD
RETURN MANIFOLD

RAFT #1 QUAD

SRECL RETURN MANIFOLD SEEUE -
PRES TEMP
o . T N BUILDING CHILLER WATER
FLOW FLOW FLOW FLOW
PRES
TEMP TEMP TEMP TEMP
o L & 1R TriNes
REBUNCHER RETURN MANIFOLD oW

1

RETURN FROM e @ o RETURN TO
RFQ WALL CIRCUIT 100 GPM CHILLER

100 GPM CHILLER SUPPLY TEMP THERMOCOUPLE FLEXIBLE HOSE UNLESS OTHERWISE SPECIFIED S
SHOP ORDERS :

100 GPM CHILLER RETURN "its |  PRESSURE TRANSDUCER NOTE: ALL MAGNET HOSES SROJECTION = [ R I S e Ry NATIONAL. L ABORAT Ry )\‘ ﬁ|

CHILLED WATER SUPPLY 7 FLOW METER TO BE NON-CONDUCTIVE % iéxiobog Zi:cgsimio D;EOULRMCE It UNTVERSITY OF CALIFORNIA - BERm
= | X . - : SNS - FES MEBT

CHILLED WATER RETURN ®  MANUAL VALVE RIGID TUBING = [ = oo [Fnsh vy e > éSNS WECHANICAL SUBSYSTEMS
AT e o WATER SYSTEM ASSEMBLY &
CHAMFER ENDS OF ALL SCREW TREADS 31° NANE /A MICROF TLNED: e Tvpe sHom o Tseae: 13/ 100 |siaie rmints P
CUT ROUND, 1.5 THREAD RELIEF ON MACHINED THREADS | DYC b OSHATZ WWIE 22-May -0 ASSEM | 25B603 SHEET 1 OF 3 X
EE%CEESEE;S'Ov‘um\émiwécg‘&E&EWOSRCKM A DATE PATENT CLEAR: | DESIGN ACCT. NO. | CATEGORY CODE | DWG. NO. sIze| Rev. F

REV|DWG|CHK]Z0NE|DATE CHANGES I ACCORDARCE WITH ASME Y14, B4 31 D. OSHATZ AT ) L3313 20B6154 | 3
- - __ __ |- — - - _— _— _— _ _ Dwq. File: 25B615 Nodel File: 258615
8 7 6 5 ! 4 3 2 | 1




TLILLL .___.:__._:::-:.—
___:_.:__:::.:-_:

TP
:_:::::.-_:__:._:_::.___

. i




	pm5_vmfd_102401_01.pdf
	PM5 Manifold
	line elevation

	installation
	layout

	25B711_111201.pdf
	image-assy
	image-installation
	installation
	iso
	section
	25B711
	b/m + title
	section
	25B734
	b/m + title
	section
	25B733
	b/m + title
	section

	25B735
	section

	25B741

	25B738
	b/m + title
	section

	25B739
	b/m + title
	section
	25B737
	iso


	25B740
	b/m + title
	section
	25B736


	25B119
	detail




